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Spring Term: Workout 7
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Now try these:
4 What
4 nine muiped by to?
b e lot o eight?

5. Jamie has 3 packets of biscuts_There ve 10 biscuis i each
packet. Jani aats b biscuts. How many doe he have I

-4





image2.png
6. Fadia has o pack of 96 crayons.
She sps e into 12 ples.
There ar 2 geen crayons in each i
How mang ofthe cragons i each ple are not reer?

How did you do? [ Score:
Puzzl: Find the Message

Work ou he answers o the calations blow.

7.3 [Be3-] [1zxi2+] [2xi0=
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[sx12=] [12x10- waz-‘ 2:2=
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Wit your answers i order rom smallest o biggest. Then match
the answars to the leters n the key t0 work out the zeret mezaage.
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